p

‘ low are two statements, one is
F};’;’fegea% assertion (A) and other as
a .

AR:::gtr;;n (A) - The Mughal Empire was

originally a Military State.

Reason (R): The vitality of the development
of the Central Government System
depended on its military power.

Select the correct answer using the codes
given below.

Codes :

(a) Both (A) and (R) are true and (R) is
correct explanation of (A) v

(b) Both (A) and (R) are true, but (R) is

not the correct explanation of (A)
(c) (A) is true, but (R) is false
(d) (A) is false, but (R) is true

. Which of the following Islands is NOT

located in the Caribbean Sea ?
(a) Grenada (b) Montserrat
(c) Madeira « (d) Anguilla

Which of the following Institution/Office
bring out the Wholesale Price Index (WPI)
data in India ?

(a) The Reserve Bank of India " AN

(b) The Ministry of Commerce and
Industry

(c) The Ministry of Finance .

(d) The Ministry of Consumer Affairs,
Food and Public Distribution

L]

The National Disaster Management
Division in India is the nodal division
in the Ministry of Home Affairs for
disaster management. Who is the
Ex-officio Chairman of the National
Disaster Management Authority ?

(a) The Prime Minister .

(b) The Home Minister

(c) The Defence Minister

(d) The Health and Family Welfare Minister

. Uttar Pradesh Government declared in

budget 2021-22 to
student under whic
Yojna ?
(a) Chief Minister Abhyudaya Yojna *
(b) Chief Minister Rozgar Yojna ¢
(c) Chief Minister Balseva Yojna
(d) Chief Minister Education Yojna

rovide tablet for
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10.

ich one of t1° following is NOT a major

coco Pr ducer country
@) Latvia * (b) Cameroon
() Ghana (d) Ivory Coast

. e following Articles of
gglfﬁdig;tConstitution is related to
Contingency
(a) Article 265 *
(C) ArtiC]C 267

What is the th
Day, 2021 ? _
(a) Young people and Skills
(b) Skills Development and
Employment

e and Entrepreneurship

(c) Young Peopl :
(d) Reimagining Youth Skills Post |
PandemicC

(b) Article 266
(d) Article 268

eme of World Youth Skiils

At the time of eecond wave of
CcOVID-19 Pandemic, which institute
had demonstrated the conversion of
nitrogen generator into oxygen generator ?
(a) 1ISc, Bengaluru

(b) IIT, Bombay

(c) IIT, Madras

_ (d) IIT, Kanpur

Which one of the following causes is
responsible for rainfall during winters
in north-western part of India ?

(a) Retreating Monsoon

(b) Cyclonic depression

(c) Western disturbances
(d) South-West Monsoon

. Flyash pollution is caused by

(@) Oil refining

(b) Fertilizer industry

c) Thermal power plant e
(d) Mining

‘Uttar Prade

ttar sh Swami Vivekanand

inttlg?;;k Paryatan Yatra Yojna 2021’ was
ced by the U.P. Government for

Which of .
ttanal 0 the following people for religious

(a) Elderly

(c) Widows (b) Women

(d) Labourers ,

§)
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L8
13. Whichon
more sun
three ?

(a) Sand Desert

d
b) Paddy crop lan ‘
((c]} Land covered with fresh snow

i k
f the following reflects bac
f:tliog.{,ht as compared to other

(d) Prairie land
wich one of the following cities
s }:T)u\;{lrl;’s first Indian Institute of Skills
was established ?
(a) Ahmedabad
(c) Rohtak
inner of the women’s single title at
- Il?: ;;}22511 Open Tennis Tournamept,
2021, Barbora Krejcikova is from which
of the following countries ?
(a) Czech Republic (b) Serbia
(c) Croatia (d) Spain

(b) Mumbai
(d) Kanpur «

16. Who among the following person said
for the Fundamental Rights “a pledge to
our people and a pact with the civilized
world” ?

(a) Pt. Jawahar Lal Nehru ¥,
(b) Dr. Bhim Rao Ambedkar

(c) Dr. Rajendra Prasad .

(d) Dr. S. Radha Krishnan

17. Riboflavin deficiency causes which of the
following diseases ?
(a) Pellagra (b) Scurvy
(c) Beri Beri (d) Cheilosis .

18. In which State of India is the Harappan
Civilization site Mandi situated ?

(a) Gujarat (b) Haryana
(c) Rajasthan (d) Uttar Pradesh

19. Which of the following is NOT r;Iosquito
borne disease ?
(a) Dengue fever (b) Filariasis
(c) Sleeping sickness (d) Malaria
-
20. Which of the followinF
a

lowest density of popu
Census of 2011 ?

(a) Himachal Pradesh
(b) Arunachal Pradesh .
(c) West Bengal

(d) Mizoram

State has the
tion as per the

13.

14.
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16.
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19,

20.
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21.

~ (c) Water-borne infection

22.

23.

24.

25.

26.

Botulism is
(a) Food-borne infection *
(b) Food-borne intoxication

(d) Water-borne intoxication

Which Constitution Amendment Act
reduced the voting age from 21 years to
18 years ?

(a) 66" Amendment

(b) 6274 Amendment

(c) 615t Amendment e

(d) 63 Amendment

With reference to the radioactivity,
which of the following statements is/are
correct ?

1. Radioactivity is a nuclear property.

2. Hydrogen bomb is prepared on the
principle of nuclear fission.

Select the correct answer using the codes
given below.

Codes :

(@) Only 1 » (b) Only 2

(c) Both 1and 2 (d) Neither 1 nor 2
With reference to NTPC unit at Singrauli,
which of the followi statement/s is/are
correct ?

L. It is situated in Northern part of x

Chhattisgarh State.

2. It is NTPC’s oldest unit.

Select the correct answer using the codes
given below.

Codes :
(a) Only 1 (b) Only 2 +
(c) Both 1 and 2 (d) Neither 1 nor |

Diffusion of light in the atmosphere takes
place due to

(a) Carbon dioxide

(b) Dust particles »

(c) Helium

(d) Water vapours

On the recommendation of which
Commission/ Committee, the Inter-state
Council was set up in India ?

(a) Punchhi Commission

(b) Rajmannar Committee

(c) Kothari Committee

(d) Sarkaria Commission .

21.

22.

23.

24

25.

26.
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29.

30.

31.

32.

33.

7. Which onc of the fo])

. ‘Statue of Peace’ is gjt

owi irs is NOT
correctly matched ? ng pairs is N

(@) Vitamin-A = Orﬂnge ‘
(b) Vitamin-C = Lemgp,

(c) Vitamin-D = Coq liver of
(d) Vitamin-Bg Tkl

State of India ?

(a) Madhya Pradesh
(b) Rajasthan e

(c) Gujarat

(d) Himachal Pradesh

Uated in which

PM VANI Yojna is related with

(a) Censorship in Print ang Digital
Media

(b) Development of Lok Sangeet

(c) Audio-Visual Release of Lok Sabha

(d) Availability of Wi-fi in Public places »

The symbol 'ECOMARC’ is related to
which of the following ?

(2) Goods of best quality 9
(b) Safe goods for environment o ’
(c) Exported goods
(d) Imported goods

Under the Constitution of India which

of the following is NOT a Fundamental

Duty ?

(2) To vote in General Election

(b) To develop the scientific temper

(c) To safeguard public property

(d) To abide by the Constitution and
respect its ideas

The Nobel Peace Prize, 2020 was awarded
to which of the following organisations ?

(a) World Food Programme

(b) United Nations Development Programme
(c) World Health Organisation

(d) World Bank

Which one of the following is NOT
correctly matched ?

(Ruler) (State)

(@) Rana Hamir - Mewar

(b) Rana Chunda - Marwar
(¢) Malik Raja Faroogi - Khandesh
(d) Malik Sarwar - Malwa
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28.
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32.

33.
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ock is Ticking’ is the theme of
34.

ing days ?
ih of the following
Whl;:;ematjonal Yoga Day, 2021
o International Women'’s Day, 2021
((b} World Tuberculosis Day, 2021 »
¢ .
d) world Malaria Day, 2021

“The Cl

. the following Constitution
Wh;“,?dfrfent Acts made necessar)["
Arrgvis ions for the implementation of GS
(Goods and Service Tax) regime ?

(a) 1015t Amendment Act ¢
(b) 1027 Amendment Act ¢
(c) 10374 Amendment Act
(d) 104%™ Amendment Act

35.

36. Foreign Minister of a country, Anthony

Blinken had visited two days to Indja for
strengthening co-operation on July 27
and 28 in 2021. He belongs to which of
the following countries ?

(2) United Kingdom

(b) United States of America ¢
(c) France

(d) Australia

37. Consider the following events and arrange

them into chronological order :

I. Sharda Act
II. Nehru Report s Wir g
[l Constitution of Simon Commission
IV. Dandi March 1

Select the correct answer using the codes
given below.

Codes :

(@) IIL, 11, I and IV .
(b) I 11, Il and IV
(¢)IV,III, T and I

(d) L, IV, Il and 111

38. Blue baby syndrome’ is due to the

gresencc of which of the following in the
lood ?

() Haemoglobin

(b) Methemoglobin
() Lead

(d) Nitrate i

34.

36,

36.

37.

38,

b
((c; forga el fgaw, 2021
(d) forga waifen e, 2021
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(a) 101 af gy fufad

(b) 102 af e sfufaa

(c) 103 af dia= spfufam

(d) 104 af gmaa sfufas
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Ch

(a) I, 11, TR IV -

(b) 1, 11, 111 @& IV

(c) IV, TII, 11 @ |

(d) 1, TV, T1 @2 111

wa 7 ffafa 4 ¥ el sofeafy 3 oo
o et forgm’ g R 7

(a) EMrenfam

(b) TeEMIEfA

(c) &S

(d) 7132



39. Given below are two statements one 18
labelled as Assertion (A) and other a8
Reason (R) :

Asscrtion |A, : The government faCCS
a tough time tackling the bottleneC
inflation.

Reason (R) ¢ The situation is due t0
deficiencies eXisting in the economy
<uch as supply bottleneck and inefficient
distribution.

Select the correct answer from the codes
given below.
Codes :

(a) Both (A) and (R) are true and (R) is
correct e;tplanatlon of (A)
(b) Both (A) and (R) are true, but (R) is
not correct explanation of (A)
/' (c) (A) is true, but (R) is false
(d) (4) is false, but (R) is true

40. Which of the following is indicator of air

pollution ?
(a) Puffballs (b) Algae
(c) Lichen (d) Moss

41. Consider the formation of following States
and arrange these in chronological order :
I. Goa
II. Telangana
[1I. Jharkhand
IV. Haryana

Select the correct answer from the codes
given below. )

Codes :
(a1, 11, 11, Iv
(c)II, 1, IV, I

(b) IV, I, TII, I «
(d) IV, I, I, II

42. The name of the foreign journalist who

reported about Satyagraha at Dharsana
salt works was

(a) Francis Louis

(b) Mark Tully %
(c) Web Miller

(d) Philip Sprat

43. ‘World Ozone Day’ is celebrated on

A

(a) 250 December (b) 215t April -
(c) 16" September (d) 30" January
w

y it @ O 3
¢ & 2. 14

al

we e I wsmnfm
a0 7 T o
¥
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(¢) III, 11, IV, 1

(d) Iv, 111, 1, 1I
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3| '
A @E nce to birth rate’ which of the
J 44. With r-eferztatement(sl infare Co.rrect :
fomwmbngm‘.zation helps in reducing the
1. Urba
birth rate. S
.oh literacy rate is directly
Hi
o : to ?ow birth rate. |
Select the correct answer using the codes
C
given below.
Codes :
(a) Only 1

) Only 2 .
((l:;} Both 1 and 2

A (d) Neither 1 nor 2

45. With reference to the ‘Uttar‘ l?radf‘:sh
- Population Control, Stabilisation
and Welfare’ Bill, 2021 which of the
following(s) is/are correct ? .
1. This Bill aims to bring the birth
rate down to 2.1 per thousands
population by 2026.
2. At present, the fertility rate in the
State is 2.7 per thousand.

Select the correct answer using the codes
given below.

Codes :

(2) Only 1

(b) Only 2

() Both 1and 2 o
(d) Neither 1 nor 2

le

46. Which one of the fo

llowing is NOT
correctly matched ?

(Provialons) (Sources)
(&) Fundamenta) Rights - yga
(b) Directive Principles of

State Policy = Ireland

s (©) Residua) Powers of

Center = Australia

(d) Emergency pPowers = Germany
A

A3 fn M g2 A g 3w 9T |
7-[{3:

(a) Shad

(b) et 2

(0) 1 3 2 2

45.
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48.

49,

50.

List-1I
(Mineral
Exploration
Agencies)

. Oil and Natura]
Gas Commission

. Mineral
Exploration
Corporation Ltd.

. National Mineral
Development
Corporation

. National
Aluminium
Company Limited

Codes:

A

(a) 4
(b) 1
(c) 4
(d) 2

List - 11
(Headquarters)

1. Bhubaneswar

2. Hyderabad
3. Nagpur

4. New Delhi

-'\_
2
4

wwhNw
——w =g

. ]

With reference to the G-7 Summit held

in June 2021, which of the following

statements is/are correct ?

1. United Kingdom was the Chair of
the Summit.

2. Brazil was invited to the Summit as
a guest country.

Select the correct answer using the codes

given below.

Codes :

(@) Only 1 ¢

(b) Only 2
(c) Both 1 and 2

(d) Neither 1 nor 2

The Public Accounts Committee of Indian
Parliament scrutinizes the

(a) Report of the Comptroller and
Auditor General

(b) Consolidated Fund of India

(c) Public Account of India -

(d) Contingency Fund ef India

Which one of the following is known as
acceleration stage in the urbanization
curve ?

(a) First stage (b) Second stage

SsMRN-1 = 21
&
»
St ddt 3 ’.i"' g
la@mﬁm fy t«;}

~ g - |
" ?ﬂ%ﬁqﬂQ%ﬁﬁmqﬁjﬁn-n

(yEaTea)
1. YA
9. RaAUET]

)2,

3, A

4 AR 3

(a) 4
(b) 1
(c) 4
@2 3
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50.

(b) feefta argren

(c) Third stage (d) Fourth stage

g
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S1.

S2.

S3.

54.

53.

56.

At which place did Raja Ranjit Singh set
up the Adalat-i-Ala
(a) Amritsar
(c) Firozpur

ia Index and Dashboard
As per SD%}_.H’gl}ileId by the NITI Aayog,
2020-21 p f the following States was
which el the top five States in their
Ng}‘o?-zgn%e regarding SDGs in the
gountry ?
() Gujarat
(c) Goa *

(b) Lahore «
(d) Multan

(b) Andhra Pradesh
(d) Tamil Nadu

i nce to Socotra Island, which of
Eliiathforlleg:ur;g statement/s is/are correct ?
1. It is an Island of Oman, situated in

" the Arabian Sea. " .
designated as a world natur
2' gc?‘i%:gecsitg: by UNESCO in 2008.

Select the correct answer using the codes
given below.

Codes :
(a) Only 1 (b) Only 2
(c) Both1and 2 (d) Neither 1 nor 2

Which of the following is NOT the eligibility
criterion before filling registration/
application forms for Uttar Pradesh
Mukhya Mantri Swarojgar Yojna 2021 ?
(a) Age group from 18-40 years

(b) Minimum high school pass certificate-
(c) Should not registered in any Central

Government or State Government
Swarojgar Yojna

(d) Citizen from any State of India

Which of the foll
first introduced

(@) Ordinary Bi

(b) Constitutiona]
(c) State Re-org
(d) Money Bi] »

owing Bills can NOT be

In Rajya Sabha ?

Amendment Bill
anisation Bill

‘Zero Houy’ ; : 4

Parliamelg; rllrllegl;sworkmg of the Indian

(@) The first hour of
€N privil

(c) Hour befor %

(d) The tim

e
Question

the Session 1
motion

52.

53.

5

10

54.

SS.

56.

mmmwﬁg@-'sﬂ-

2WEE 2020-21 F AN 3

x-mmmsﬁ.sﬁ. graf-d mﬁ?ah

2w % oid gt Tl o afeferd T A T

(a) TSI (b) 3w ¥

(c) T (d) qfirerTg

P A9 3w  Freafrfiga § & FA-1/3

FHAFAR/E? ‘

1. 38 3N o1 ek 6 3 < ave werH fEd |

2. T 2008 % 73R g fava wfaes faad
TS % w9 1 iy o o |

A= e T e @ e smogfio

C T

(a) *aa 1 (b) Fae 2

(c) 1 3 2 3t (d) AT 1382

I FErEh T Qe 2021 % e

ﬁsﬂm/aﬁmqﬂuﬁat@ﬁn%mﬁﬁ

-1 T 1 AU T8 R 2

(a) 3Mg = 18-40 o

(b) =T B3 THS ITH FHIOH

(c) Tt = TR 1 Tvw TR wie

A # Aol Tt B v

(d) wrE & forelt off s 5 i

W T T it wrarél § S et o aned 2
(a) € 1 YW €A

(b) sra fardrnfRyern wema wiea S @

(c) e FTel o qd 1 A

(d) 9¥A =Tt < Sieh IYEId H HA



L

4

57. Which one of the following pairs is NOT

58.

89.

60.

, 61.

62.

o

.

correctly matched ?
(Tirthankar) (Nirvan Place)
(a) Rishabhanath - Ashtapad
(b) Vasupujya - Sammedashikhar
(c) Nemiﬂé_lth - Urjayanta
(d) Mahavira - Pavapuri

Who among the following has been
appointed as first Women Treasury
Secretary in United States of America ?

(a) Lyoyd Austin

(b) Janet Yellen

(c) Merrick Gardand
(d) Tullipan

Consider the following and arrange these
in chronological order :

l. Golak Nath Case  1>¢%
1. Keshawanand Bharti Case 1932
111. 24'h Constitution Amendment Act

V. 4274 Constitution Amendment Act pAf

Select the correct answer from the codes

given below.

Codes :

(2) I, L, II, IV (b) L II, III, IV
(c) I, L, I, IV (d) ur, I, Iv, I

Which of the following newspapers
won the ‘Pulitzer Prize, 2021’ in the
prestigious public service category ?

(a) The Wall Street Journal

(b) The New York Times

(c) The Washington Post

(d) New York Post ,

Which of the following is the largest
lagoon lake situated on the east coast
of India ?

(a) Pulicat
(c) Kulleru

(b) Chilka . %
(d) Kilivali

Which Indian Naval Ship participated in
Exercise Cutlass Express, 2021 ?

(a) INS Vikrant

(b) INS Magar

(c) INS Talwar

L' D]

(d) INS Vikramaditya

57.

58.

59.

60.

61.

62.
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(a)aﬂgﬁﬁq
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IV, 42 af dfyam g st
ﬁﬁqﬁzﬁg@mwwml

R .
(a) I, IIL, 11, IV (b) 1, I1, 11, IV
(o) IIL, 1, 11, IV (d) II, I, IV, 11

frerfafes guereE § @ fraa ofafsa d@e
Far Aoft F “glere AR, 2021 Sfiar @ 7
(a) & T T SHA

(b) T =ATH TFH

(c) T e dree

(d) =T W

Frrforfaa 3 @ v & gt e w e wam o
A e - R 7

(a) geftere ORERD

(c) Fre (d) Frefieh

HETH THNE, 2021 37y 3 el

forw sraet 3 o for oy 2 A
(a) 8. 0. wE. fseia

(b) 3TE.TH. T, WK

() 3TTE.T7.TH. deian

(d) 3. v, fasemfemy



%:Emu-ogeﬂ is NOT an essential constituents

65.

66.

67.

68.

69.

= b) RNA
Chlorophyll (
((i; DNA (d) Carbohydrate .
ich of the following words ig NOT
ggrluctioned in the Preamble of the
Constitution of India ?
(a) Sovereign (b) Democratic
(c) Secular (d) Federal -

The book ‘Fawaid ul Fawad’ is the
record of the conversations of Shaikh
Nizamuddin Auliya, it was compiled by

(a) Amir Hassan Sizzi
) Amir Khusro ¢ D
(c) Ziauddin Barf'll
(d) Hasan Nizami
In which of the following years, the

Environment (Protection) Act passed by
the Government of India ?

(a) 1982 (b) 1986 »
(c) 1990 (d) 1992

Which among the following is NOT a
major factors of economic growth ?

(a) Accumulation of capital and .
reforms in technology A

(b) Change in population v

(c) Division of labour in specialised .,
activities

(d) Technocrats and Bureaucrats ,

Ringelmann scale’ is used to measure
density of

(a) Smoke (b) Polluted water -
(c) Fog + (d) Noise

ig tl}e contexts of Indian history, which of
e oll'owmg‘statement /s is/are correct
regarding Vaikom Satyagraha ?

L. It was a saty '
agraha againsts
Untouchability and cz;gstc
ISCrimination,

2. Mahatmg G ' ici i
this Satyagrgllg}_u participated in

Select
given ﬁ?foﬁ,"_”ect answer using the codes

Codes .
(@) 1 only

(¢) Both, 1 and 2 (b) 2 only

63.

64,

65.

66.

67.

68.

69,

, (d) Neither 1 nor 2

13-

12

SMRN-1 - 21

A Uh A 3aad T8l o
(a) F@BA BT () IR T
(@& @ QL& () FEEEE B

feffad # @ B-ar wrea wrda d@faE

&A1 | Seafaa adf g ?
() T (b) EArRAATHE
(c) gaficde (d) @Eia

6 wraeta w1 faarw R, guet gwe fHaT A1
(a) 31 7o fosrsh 3

(b) 30fit e 3

(c) Frarsdm =ht 3

(d) a1 fasmft 3

Frefefa % & form and s s g g
(aferr) srfufrm wife fisar mar 2

(a) 1982 (b) 1986

(c) 1990 (d) 1992

Frfefaa § & a9-m wfds frrmm =1 wga
FRE L @ 7

(2) 5ft =1 W= wd AT guw

(b) SaEaT § yiEds

() Torediepa famaatt /R faRet 3 o v
(d) TRt Td g

Toei e’ &1 wam fafifas § @ fros
e IO | B R 2

(a) gl (b) SR et
PEIRY (d) @

Wit 3fovera W wed o aret T % gy

i frfafaa wadl 8 @ eR-m/Q v /8 2

1, ¥g regvaa 3R snfoma Yo & faweg
U §cdg ol |

0. WareHl Mt A 39 g me ¥ Wi forn an |

Hi fad o e w1 A WO I g |
L T4
(a) Fae (b) e 2

(@ 1a2gd  (d) 7@ 1TE2



Fruits stored in a colq chamber exhibit
longer storage life, because

(a) Exposure to sunlj

(b) Concentration of
is Increase

(c) Rate of respiration is decreased

(d) There is an increase in humidity

ght is prevented
CO, in environment

71. Who originally propounded the theory of
three stages of social development ?

(a) Karl Marx (b) Talcott Parsons
(c) Herbert Spencer (d) Auguste Comte

72. Which of the following particles has zero
charge ?

(a) Positron
(c) Electron

(b) Neutrino
(d) o-particle

73. In February 2021, Ngozi Okonjo Iweala
was appointed as the first woman Director
General of World Trade Organisation.
She belongs to which of the following
countries ?

(a) Nigeria » (b) South Africa

(c) Kenya (d) Ethiopia

74. Which of the following is NOT correctly
matched ?
Institute

(a) International Centre
for Research on
Agro-Forestry

(b) Indian Institute of
Forest Management

(c) Central Agro-Forestry
Research Institute

(d) Tata Energy Research
Institute

Location
— Nairobi

- Bhopal .
- Banda .
— New Delhi

75. In which year the book ‘Poverty and
Unbritish Rule in India’ was published ?
(a) 1900 A.D. (b) 1901 A.D. s D\‘—“

(c) 1902 A.D. (d) 1903 A.D.

76. Who among the following was the
Chairman of the First Finance
Commission of India ?

(a) Shri. Santhanam

(b) Shri. K. C. Neogy _ D
(c) Dr. Raj Mannar

(d) Shri. A. K. Chanda
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70.

71.

72.

73.

74.

75.

76.
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78.

79.

80.

81.

82.

83.

77. After cut?

ing cucumber if salt is added,
water comes out due to
theﬁctive transport
IE;; passive transport
c) Osm0§ls
(d) piffusion ¢

wing Rams ite i
?\;Vg'irczitgi:att?g igﬂl[}ottar %rad?sha; e
(a) Sur Sarovar. i
(b) Samaspur Bird Sanctuary
(c) Sansai Nawar Jheel
d) gurinsar-Mansar Lakes ,

gite of gaseous exchange in lungs is
(a) Tracheoles (b) Bronchioles
(c) Pulmonary vein (d) Alveoli

Which one of the following is NOT an
element of rural community ?

(a) We-feeling (b) Cultural diversity »
(c) Territory  (d) Self-sufficiency

Tapa cloth is obtained from the plants
of which one of the following family ?

(a) Asclepiadaceae (b) Moraceae
(c) Graminae (d) Malvaceae

Which one of the following Acts of
British India strengthened the Viceroy’s
authority over his executive council b
substituting ‘portfolio’ or ‘departmental’
system for corporate functioning ?
(2) Indian Council Act, 1861

(b) Government of India Act, 1858
() Indian Council Act, 1892 »

(d) Indian Council Act, 1909

Given below
labelled as
Reason (R) :

Assertion (A) : Various components of
an ecosystem are not interdependent.
Reason (R) : Human activities have the
Impacts on the environment.

Select the correct answer using the codes
given below.,

Codes :

(@) Both (A) and (R) are true and (R) is
correct explanation of (A)

(b) Both (A) and (R) are true, but (R) is
1ot correct explanation of (A) -

() (A) is true, but (R) is false

(d) (4) is false, but (R) is true

1.

are two statements, one is
Assertion (A) and other as

77.

78.

79.

80.
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81.

82.

83.
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84, \S/hg:h gf the following Schemes in Utta‘;_ et
radesh were int i set 0
5001 =992 5 roduced in Budg
. Atmanirbhar Krishak Samanvit
Vikas Yojna
[I. Mukhya Mantri Saksham Suposhan
Yojna
III. Mukhya Mantri Pravasi Shramik
Udhyamita Vikas Yojna
IV. Yuva Udhyamita Vikas Abhiyan
Select the correct answer from the codes
given below. qQ
Codes : !
(a) I, Il and III (b) I, Tand IV p
(c) I, I and IV (d) I,IIand IV
85. Which of the following is NOT correctly | 85.
matched ?
(a) Hundru Waterfall - Subarnarekha
River
(b) Chachai Waterfall - Bihad River
(c) Dhuandhar — Narmada
Waterfall River -~
(d) Budha Ghagh - Kanchi River
Waterfall
86. Which of the following is NOT correctly | 86.
matched ?
(a) Acid present in — Acetic acid
vinegar
(b) Compound present — Calcium
in bones phosphate
(c) Souring of milk - Nitric acid »
(d) Acid present in - Hydrochloric
gastric juice acid
87. Match List - I with List - II and select | 87.
the correct answer using the codes given
below the lists,
List -1 List - II
(Volcanic (Country)
Mountains)
A. Mount Rainier 1. Italy
B. Mount Etna 2. Mexico
C. Mount Pericutine 3, Philippines
D. Mount Apo 4. US.A.
Codes :
A B CD
@4 2 1 3 B
b)4 1 2 3.
)2 1 4 3
d4 3 2 1

.16-
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ich one of the following is the main

gg. Whic “ent of LPG ?
cc;n::xt‘;nc (b) Pentane
((; BtAns & (d) Methane

- . . OT
: of the following rivers is N
ﬁ’;ﬁﬁff Indian Ganga river basin ?

@ punpun river » (b) Ajoy river
© Jalangi river  (d) Jonk river

89,

The blood glucose level is commonly
f.,_,h;prf,-sse:d as

(a) MM of Hg t

(b) Milligram per decilitre
(c) Parts per million §

(d) Gram per litre

90.

]

‘Saras Ajeevika Mela - 2021’ was
Zg;;rﬁsed in v't]rhich of the following city ?

(a) Patna (b) Raipur
(¢) Lucknow (d) Noida

91.

92. Nobi and Kanto plains are located in

which of the following countries ?
(a) North Korea  (b) South Korea
(c) Japan (d) China

93. India climate change knowledge portal’

was launched in which of the following
months of 2020 ?

(a) November, 2020
(b) December, 2020
(c) September, 2020
(d) October, 2020

94. Ministry of Culture, Government of India
& part of Azadi ka Amrit Mahotsay
Celebrated the birth anniversary of

2025?3 Rl;ain}xl Pras%d Bti‘slrlnil in June,
, which one i
in Uttas P ?o the fo owing places

(8) Chayry Chaura
(b) Shahjahanpur .

SMRN-1 - 21

88. = H R TR-W v A A, w1 o7 s 7

(a) B (b) ¥3=
(c) ¥4 (d) o

. Frafafaa 4 @ Sx-m et T e
* R R R S e

() GG 7§

. (b) 3=/ 7
(c) Stermft (d) S =&
90. mﬁmmmﬂmmuaﬁhﬁm
STaT B

(a) THUH A% Hg % =y 5

(b) forctiom wfty 2feferer 3 =g
(c) UéE s fferem % =g 3
(d) 7™ wf forex % =y 3

91. FW IAATH Tal - 2021 F1 Frdray
ﬁw%riﬁaﬁé%amﬁﬁmwm ?
(@) T (b) TR
(c) TETH (d) ez

92. ﬁm@nmﬂmﬁqﬁw&aﬁ%m%ﬂﬁ

femd?
() ST =hifen (b) = i
(d) ==

(c) ST9™=
‘ﬁmm%mmwm
2020 % frafafas § ¥ g whd § B
T o7 7

(a) TEw=R, 2020 ¥

(b) fege=R, 2020 %

(c) Rz, 2020 #

(d) TR, 2020 A

MU TR S W e ¥ Sl = s
WRICHd % TH 3 % w9 ¥ 5@, 2021 ¥ wie
T v fufera 6 s s ey & A
4 @ fofw e w e w
(a) <Y <

(b) YTESTRTR

(c) THgR

(d) sferan

93.

94,

-17.
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95.

96.

97.

98.

Who was the founder of the ‘Asiati
Society of Bengal’ ?

(a) Jonathan Duncan
(b) Sir William Jones
(c) Warren Hastings
(d) William Bentinck

With reference to ‘NET - ZERO’ goal for

2050, which of the following statements

is/are correct ?

1. It means that a country will bring
down its emissions to zero by 2050.

2. It means that a country’s emissions
will be compensated by absorption
and removal of green house gases
from the atmosphere.

Select the correct answer using the codes

given below.

Codes :

(a) Only 1 (b) Only 2+

(c) Both 1 and 2 (d) Neither 1 nor 2

Given below are two statements, one is

labelled as Assertion (A) and other as

Reason (R) :

Assertion (A) : The Council of Ministers

in India is collectively responsible to both

Lok Sabha and Rajya Sabha. ¢

Reason (R) : Members of both Lok Sabha

and Rajya Sabha are eligible to become

Ministers in Union Government. «~

Select the correct answer using the codes

given below.

Codes :

(a) Both (A) and (R) are true and (R) is
correct explanation of (A)

(b) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(c) (A) is true, but (R) is false

(d) (A) is false, but (R) is true <

According to the Union Budget 2021 - 22,
Finance Minister proposed a new
levy Agriculture Infrastructure and
Development Cess. This cess will be
levied on how many products ?

(a) 12 (b) 20
(c) 25 (d) 29

-18-
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99. A

100.

101.

102.

member of State Public Service
Commission may be removed by

The Governor on the basis of
impeachment in Vidhan Sabl}a

The Governor, after the enquiry
conducted by the Supreme Court
The President, after the enquiry
conducted by the Supreme Court

(d) The Governor, after the enquiry
conducted by the High Court

()

(b)

(c)

Which of the following countries is NOT
jocated on the bank of the Black Sea ?

() Syria »
(b) Turkey
(c) Georgia
(d) Bulgaria

Arrange the following foreign travelers
in chronological order of their arrival in
India :

. William Hawkins

II. Ralph Fitch
I1I. Sir Thomas Roe
IV. Nicholas Dawnton
Select the correct answer using the codes
given below.
Codes :

(2) I, I, IV and III
(b) IV, 11, I and III
(c) I, I1I, 1T and IV
(d) I, I, IV and I .

With reference to the ‘Capital formation’

which of the statements is/are correct ?

1. Process of capital formation depends
on savings and effectiveness of
financial institutions.

2. Investment is the essential factor of
capital formation.

Select the correct answer using the codes

given below,

Codes :

(a) Only 1

(b) Only 2

(¢)Both 1 and 2

(d) Neither 1 nor 2

SMRN-1 - 21

90, T4 T Qe AT 3 Haw i g S

100.

101.

102.
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the correct an
below the lists.

List - I
(Biosphere) (Iif:::;t::ml

A. Similipal 1. Uttarakhand
B. Pachmarhi 2. Meghalaya
C. Nandadevi 3. Madhya Pradesh
D. Nokrek 4. Odisha
Codes :

A B C b
@ 4 3 2 1
b 4 3 1 2.7
© 1 3 4 2
d 3 4 1 2

104. Who among the following was NOT an
early member of the ‘Naujawan-Sabha’
formed in 1926 A.D. ?

(a) Bhagat Singh« (b) Yaspal
(c) Chhabil Das (d) Ambika Chakravarti

105. Which of the following is the correct
sequence of the Islands of Indonesia from
West to East ?

(a) Java, Sumatra, Lombok, Bali
(b) Sumatra, Java, Bali, Lombok »
(c) Sumatra, Java, Lombok, Bali
(d) Bali, Sumatra, Java, Lombok

106. Largest saline water lake in India is
(a) Chilka (b) Sambhar
(c) Lonar (d) Wullar

107. In India the First Municipal Corporation
was set up in which one among the

following places ?
(a) Calcutta (b) Madras ~
(c) Bombay (d) Delhi
108. Which one of the following books written
by Noble Laureate Amartya Sen and
published in July, 2021 ?
(a) Development and Freedom
(b) The Argumentative Indian
(c) Home in the World «
(d) The Idea of Justice

104.

105.

106.

107.

108.
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adt gy
Sk A
gﬂﬂ%ﬁqmaﬁzﬁ@mﬁ 11 "
e -1 (?ﬂé—lﬁ)
A'm?ﬁ 2. A
g' et S.Wm 1
D. AR 4, S
W'A B C D
@ 4 3 2 ]
b 4 3 1 2
@ 1 3 4 2
@ 3 4 1 2
AT~y

(a) wTa féE (b) FT 1
(c) Tt T (d) sifeent <wad
e & g agdt i wfeem @ g e A
o o et & @ - R 7

(a) ST, GHTAT, SIHE, STel 1

(b) G, ST, S, A
(c) GHTA, ST, IwErh, el
(d) =reht, gATT, ST, AHES

e § @R g ) ged g 3 2
(a) faesht (b) ET¥
(c) TR (d) Feer

fr o @ fre v © yRa & wum 9w fm
wqifie foran e 7

() SHeTehdl (b) wETE

(c) =T (d) faeh

Ted (@R @ smed @7 g faf
fr=afafea & @ S9-d - i
o o 7 &% 9o, 2021
(a) AT W Hrew

(b) g 3T sfozaq

(c) W ¥ g gcd

(d) = Imsfem 3w wferg



109.

110.

111.

112.

113.

114,

" ular Index of Bombay
'SENE%};S;:&EEOPBSE)- It is measured
Smclhc basis of how many blue chip
ggmpanics listed in BSE ?

b) 30

20 (

((i; 25 (d) 10
Consider the facts given below !

r Sen was the first C]}lef
: %lllggtli?: Commissioner of India,
2. Rama Devi was the ﬁ:_'st.woma?
" Chief Election Commissioner o
India.
Choose the correct answer from the
codes given below.
Codes :
(a) Only 1 is correct
(b) Only 2 is correct
(c) Both 1 and 2 are correct
(d) Both 1 and 2 are incorrect

Which among the following districts of

Uttar Pradesh is smallest in terms of
area ?

(2) Hamirpur
(c) Hathras

(b) Hardoi
(d) Hapur .

Who among the following had performed
the world’s first heart transplant ?

(2) Dr. Venugopal

(b) William Harvey L )

(c) Christian Bernard .«

(d) William Betrick

With reference to Mekong river whi
following statement / gnver, which of the

8 is/are correct P
1 Mekong rises i

n Tibetan Plateay
2. Mekong delta js s;

Codes : )
(a) 1 only

(b) 2 only
() Both 1 anq 2 (d) Neither 1 nor 2

(b) Riboflayin
(d) Retino]

It
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109.

110,

iy .

113,

113.

114,
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g a wiH vaEta (BSE) @ wafdd
gt | dua d, ¥ gehiag feeeft s f
wrafal & guent o g R 7

(a) 20 (b) 30
(c) 25 (d) 10
A1 faw o gt o e e

L. el 3 s e i st g e & |
2.;gazamﬁn%mgaﬁammm
oft |

9 fow o gz @ wh) e gfi |
w-

(a) Faret 1w B
(b) et 2w B
(c) 1 3 2 Qi g
(d) 1 3 2 A rer 8

SR 0 Pt & & w-a fren g

3R & v gy 2 o
(a) By (b) TS

(c) BrerH (d) ®ge
ﬁwmmmmﬁnﬁﬁw
feram o 9

(a) . Supiarer
(b) farferm &r3

(c) orfoem et
(d) feform Afs
ﬁmm%wﬁﬁn&mﬁaﬂqm@

2.ﬁﬁnm%mm$@%mﬁf&a%|

ﬂ%ﬁnﬁq%ﬁaﬁ’tmﬁﬁm

L T

(a) Faa 1 (b) ¥aw 2

(€) 1 3R 2 & (d) 7@ 19¢ 2
A g 8 forw frerfrfam i & gq-m R
AT B @ 7

(a) Biferm ang (b) TEEIwIfA

() Frnfem (d) Weata



. :i ; Hd & A
4 T3 ﬁ“a 231 ﬁ@T m
115. SR S 1 G & 733
115. “Can you show me one frec country e
where there are separate elcclOfﬁtcs T"ﬁ m % o .
.. The British element is gone¢, put they Syl og I @l gfada™
have left mischief behind™. " freafafad i@ e
Who among the followin said the above g1 7
mentioned statement in %he Constituent an & W:@
Assembly debates ? (a) HYHATH
o) o narial Nehru () T e
; e
() Sardar Vallabh Bhai Patel (‘g qq :ﬁag:
(d) N. G. Ranga i . & Reftaa
116. According to ‘Global Peace Ind 2021', [ 116 A wifa s, 2021 %m @i ?
. According to ‘Glo eace Index, ) . . =
which o% the following is the most i @ faa = gad griferget e
peaceful region in the world ? (@) arfreRt (b) @q
(a) Africa (b) Europe (d) zfaror amfEt
(c) Australia « (d) South America & (c) ategfer
Fori & T W AT (A)

1.1 ﬁ%ﬁmﬁ!“ﬁ%

117. Given below are two statements, one is
labelled as Assertion (A) and other as

Reason (R) : _ aftreer (A) qEd
Assertion (A) : Human body synthesises Ryl & HIATIT L Aare |
allthevitammsrequuedbyit.ﬂ —— _W%ﬁﬁq;m%fa'qm
Reason (R‘L{h\iitfa%iing ecalre essential for e él'a LY
proper gro of the body. - m
Select the correct answer using the codes A3 R ) g2 A HE I =4 I
%izgnbclow. L T e i’[:ﬁ'aﬁ’[%:ﬁli - (A)Tzﬁ'ﬂ'ﬁ
es : ]
(2) Both (4) and (R) are t:f'lilﬁ)and R) is (@) Q@T % ®)
correct explanation o
(b) Both (A) and (R) are true, but (R} s ) (4) 3 (R) 3 ¥ £, g (R), ()
not correct explanation of (A) HE ST TG Hl ?
(o) (A) is true, but (R) is false (c) (A) 4 2, &g (R) TeTd ?
(d) (A) is false, but (R) is true » (d) (A) TeE &, g (R) & ?
118. ‘s‘;;&lamya Bharat Abhiyan is associated | 118. g W@ sifram wafoa @
(a) Disabled Persons * () foatn wafra
(b) Child Health Care (b) =T TR |
(c) Women Empowerment (©) wften wuifaE &
(d) Under Privileged People (d) 3f k|
119. With reference to the electric potential, 119. e s w freferfiaa
:;l:.l;}étog the following sctg.(t:emiggs fg / :arc :Eim /A Hg:‘;;;ﬁ? w4 @
1. It is a scalar quantity. 1. 98 & g ufr § 1
2. It is a vector quantity. 2. T uh aflem uf |
gifrl:flt ;l;lco svo.rrcct answer using the codes ﬂzﬁaﬁﬁq o A wE I H T DT |
Codes : :
(a) Only 1 * (b) Only 2 (a) T 1 (b) ¥t 2
Bothl1and2 (d) N ither 1 2
(c) Bo (d) Neither 1 nor (c) 1 3 2 2 @ TR 178 2
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th List — II and select

120. Match List = I w1 using the codes given

the correct ginswet‘
below the lists. -1
List -1 List )
(State of India)  (Highest Pea
Tamil Nadu 1. Dhupgarh Peak
Q' Rajasthan 2. (S}aramﬁtl;( lf:eak
' 3. Gurushikhar
C. Nagaland Peak
Pradesh 4. Dodda Betta
D. Madhya i

S
Cod®* B c D
@) 3 2 1 2
(d] 4 3 2 1.

121. A non-renewable source of energy is
(a) Solar energy  (b) Petroleum .
(c) Wind energy  (d) Biogas
llowing countries India’s
122 ?rl;;: I%a.ltggcgosgrplugs is maximum with
which country in 2019-20 ?
(a) USA » Q
(b) China b
(c) Japan
(d) United Arab Emirates .

123. In which year P.C. Hota Committee on
Civil Services Reforms was constituted ?

>

(a) 2003 (b) 2004
(c) 2005 (d) 2006

124, g‘he concept of ‘carbon credit’ originated
rom

(a) Earth Summit, Rio-de-Janeiro
(b) Kyoto protocol «

(¢) Montreal protocol

(d) G - 8 Summit, Heiligendam

125. With reference to the Satavahana Rulers
gﬁg:l; of the following statement /s is/are

1. The Satavahana Kings were the
nurtures of Prakrit language.
2. Public aspect of the arts pot

alore encouragement durin the
Satavahang period. ¢

S :

gi?:gt&ﬁ, t‘:No.rrect answer using the codeg
Codes ;

(a) Only 1

(c) Only 2 (b) Both 1 and 2

(d) Neither 1 nor 2

SMRN-1 - 21
_ 11 & ghfera shifore e G
20. g - 1A T - M1 7 HIR |
: ?ﬁﬁﬁﬂfﬁa“@m%_n
GUGE R ms,a—;n;ﬂa)
A. dafire g 1. q¥Te a2
B, TSI 2, SRR N
camie > TG
D. Heq SR 4.
L A B C D
@ 3 2 1 4
b)) 1 4 3 2
(d) 4 3 2 1
121. U St i &t 2
(a) "R (b) Ygiferam
(c) AT FHatt (d) =mEiE

122. 2019-20 # fr=fafiga 2ai # & fead wma =1
SR A i gatfus @ 2 7
(a) 3, @H. .
(b)
(c) SI9™
(d) TgF 3 snfrra
123, fafas fansii # gur g 9.4, e afufy =1 7w
Tora ad forr o ?
(a) 2003 (b) 2004
(c) 2005 (d) 2006
124, 'mm'aammmg
(a) 37 wftre, f-2-IFD
(b) T Werris
(c) wifaet Wereta
(d) St - 8 wfie, Refisten
125. wdare wmasnt % gy § Pesfife s § @
PH-1/Q e T /R 7

1. HIGETET R Wik st ¥ qryes |
2. HITETET w1t § el F wivs vey @) s

4 ﬁm‘ll
1 12 e o & wet e g |
L T4
(a) Fast (b) 1 3ik 2 2Fi
(c) et 2 (d) TR 178 2
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126. Which of the following types of glass can
cut off ultraviolet rays ?

(b) Pyrex glass
(d) Crookes glass »

(a) Soda glass
(c) Jena glass

127. Which one of the following pairs is NOT

correctly matched ?
(Name of local

winds)
(a) Leveche
(b) Brickfielder
(c) Black roller
(d) Shamal

128. Match List - I with List - II and select
the correct answer using the codes given

below the lists.
List-1I
(State)

A. Rajasthan
B. Gujarat
C. Karnataka
D. Punjab

Codes :

A

(a) 1
(b) 2
€ 1
e

B
3
3
2
(d) 3

129. Who among the following Director
won the.Oscar Award for the best
motion Flcture in 2021 for the movie

and” ?

“Nomad

(a) Chloe Zhao -
(b) Emerald Fennel »

(Representation in

—w A s O

(c) Lee Issac Chung

(d) Thomas Vinterberg
130. Which of the followin

correctly matched ?

Place)
(a) Alaska
(b) Borneo
(c) Arab Desert

(d) Sweden and Finland

(Places)

Spain
Australia
North America
Austria

List - II

Rajya Sabha)
1. 10 seats

2. 7 seats
3. 11 seats
4. 12 seats

X

SR RO . |

g pair is NOT

- Ruwala

(a) ¥ T3

(b) TTeE ¥et
(c) <t ¥aT® g
(d) uTe fiexat

(*um)
() Fem=mT
(b) Wiy
(¢) 3T e

- Lapps

-24.
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(d) ¥ e Rerdoe :_@m

qUam,
a1 A
R L L
Az B9 d) 59 F17
(a) it (
(C)ﬁ:n ﬁ-ﬁﬂﬁ‘lﬂqﬁ%?
127. ﬁﬁ‘(?“@“ quit (vam™
1 ATH) o
(@) T _ g
(b) forerfEeet ey SR
O =FIT T
CIRULS! -
128 @'Iﬁ@'uﬂa ama;ﬁmﬁm
A R T ST
Tt - 1 e & wiaffie)
({=3) 1. 10 €%
AT 2. 7R
g'gmm 3. 1141
D. e 4. 1274
o A B C D
(a) 1 3 4 2
® 2 3 4 1
© 1 2 3 4
@ 4 3 1 2

129. 2021 % e aTE BR g ¥ 9T Naq
TR S et feen “Aiedve o e
ﬁwﬁfﬁaﬁﬂmﬁ%m%ﬂ ?

130"*"”“’?@3’“‘@‘?@%@3 >

(S=nfay)
- WRATH
RN GIC

LEI



et

: i ' ISImeﬁqnﬁﬁﬁmﬁaﬂ?ﬁmam
131. Consider the following Committees on o A e by
panchayati Raj and arrange these in o 2EIRL
chronological order : I mﬁm;}gmgﬁfa
1. Ashok Mehta Commuittee TG foaeh afufd
[I. L.M. Singhvi Committee (L. .37, e R
[1l. B.R. Mehta Committee - A%, T
IV. G.K.V. Rao Committee V. sit=.dl. gfifd N
Select the correct answer from the codes A fRg m e 1 wErE qwd
given below. $ifsm |
Codes : %
@1 0, m v (o) IL L IV, 10 @]l 1, m, v (b) 1, L IV, 0T
@I I m v (4 I I, IV, I (© 1, I, m, v (d) I, I, IV, I
132, The functions of the State Public Service | 132, I/ 50 % T4 o dar I & FHE F
Commission of Uttar Pradesh can be fpeare e S 3
tended b ' Hep
exten y @) -

133.

134.

(a) Prime Minister 4
(b) Union Ministry of Personnel, Public
Grievances and Pensions

(c) The President ¢
(d) Uttar Pradesh State Legislature

Given below are two statements, one is

labelled as Assertion (A) and other as

Reason (R) :

Assertion (A) : Teesta river was earlier a

tributary of Ganga now it is a tributary

of Brahmaputra.

Reason (R) : River capturing is a major

feature of Himalayan rivers.

Select the correct answer using the codes

given below.

Codes :

(a) Both (A) and (R) are true and (R) is
correct explanation of (A)

(b) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(c) (A) is true, but (R) is false

(d) (A) is false, but (R) is true «

The primary duty of the Finance

Commission of India is

(@) To give the recommendations on
distribution of tax revenue between
the Union and States

(b) To prepare the Union Annual
Budget

(c) To advise the President on financial
matters

(d) To allocate funds to various
Ministries /Departments of the
Union and State Governments

24

133.

134.

(b)%——sﬂﬂaﬂfﬁm,aﬁﬁmw&m
A g
(c) Trgafdl grT
(d) I wew faum 7o g
2 S o fw o E, Rl @ it A (A)
3R ZE ) FH (R) FET IR :
srferemer (A) : R 7 wgel T i wETH
oft STl 98 SEYA 1 TEAF A4l € |
HWT (R) : T8 e fewrer & afedi #1 ¢

HE IR |
1 fw T e @ T I A = I |

He

(a) (A) 3 (R) 31 e & 3 (R), (A) 1 &l
I Al &

(b) (A) 3R (R) 3 & &, fhg (R), (A)
& AT TEl FaT ]

(o) (A) & B, Frg (R) Terd @

(d) (A) T &, fRg (R) ¥ @

W % fae 3N &1 wufe wde @

(a) HY 3R T4 & WeA AW T & o
2q fawrfed &

(b) Tefty afifer avTe QAR HET
(c) Trsgafar @t ferefr el oo ol &

(d)ﬁuamamﬁ%ﬁﬁﬁrimzﬁ/ﬁwﬁ
& foru faftrt =t fafaam o



ot

135. Which of the following labour related
Acts have been

amalgamated into the
‘Code on Wages, 20197

I. Minimum Wages Act

II. Payment of Bonus Act
[II. The Contract Labour Act
[V. Equal Remuneration Act

Select the correct
given below.

Codes :

(a) I and II only

(b) IT and III only

(c) I, Tand IV only ,
(d) I, II, IIT and IV

answer using the codes

136. Who among the following was NOT

associated with the Kanpur Conspiracy
Case of 1924 ?

(a) Muzaffar Ahmed
(b) Nalini Gupta

(c) Shaukat Usmani
(d) M.A. Ansari B

As per the Census, 2011 estimates,
which one of the following is the most
populous State in India ?

(a) Bihar (b) Madhya Pradesh
(c) Maharashtra (d) Uttar Pradesh «

?a

137.

138.

Which one of the following is NOT
correctly matched ?
(Subject) (Related
Articles)
(a) The separation of - Article 50
Judiciary from executive
(b) The promotion of - Article 46
educational and
economic interests
of Scheduled Castes
and Scheduled Tribes
(c) The promotion of - Article 43A
Co-operative Societies
(d) The organisation of - Article 40

Village Panchayats
and enable them to
function as the units

(b) 3are 11 3R I
(c) et 1, 11 3TV
(d) I, 11, I &IV

136.ﬁnﬁaﬁ:@1924%mwmu
it @ o1 ?
(@) HFRL HETG
(b) et T
(c) YiYeha IgHTH!
(d) w. u. JrEm

137. STUMT, 2011 % AT 3 FFER 9T |, F
# ¥ BA-|1 U waifre S are TSy g 7

of self government

25

(a) formm (b) AEg wawI
(c) RS (d) ST YT
138. fifehd & & ¥ 1-w1 g w wiferg 7442 7
(o) (wafam
)
(a) AT § Frigfer - =T 50
% R
(b) rgqf=a st qen - 3=
e NS Y ea4s
Qerfores o anfeles
et r arfirgfy
(c)mmm ~ HIT 434
() T e 7 .
EREERLE RSB 0T SN
AT

-26-



ng the following are India’s
waglg agnd operational research
ermé = Antarctica ?

) Bharati and Dakshin Gangotri
() Bharati and Maitri = =
((d] Dakshin Gangotri and Maitri
wich one of the following is NOT
140. \\Of_'xfglﬂy matched ?
c (Name of Player) (Medal Won in
Tokyo Olympic

2020)
a) P. V- Sindhu — Bronze Medal v~
(b) Bajrang Punia - Silver Medal -

Silver Medal
Gold Medal .~

|

( Mirabai Chanu
(d) Neeraj Chopra

How many districts of Uttar Pradesh
has been covered under the Aspirational
District Programme run by NITI Aayog,
up to June, 2021 ?

(b) 6 A

(@) 4

141.

142. Which among the following organisations
released the World Population Report,
20217

(z) International Monetary Fund

(b) United Nations Population Fund

(c) World Health Organisation

[d) United Nations Development
Programme

143. Match List - I with List — II and select
the correct answer using the codes given

below the lists.
List - I List - II
(Text) (Author)
A. Ragamala 1. Somanath
B. Rasa Kaumudi 2. Venkatraman
C.Raga Vibodh 3. Pundrik Vitthal
D. Chaturdandi 4. Sri Kantha
Prakashika
Codes :
A B C D
@3 4 1 o ,
b) 4 2 1 3
(c) 2 3 4 1
[d) 1 2 3 4

A
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SMRN-1 - 21

139. Fi=fafaa § & FH-91 s § wia = &l

i 3u% g TiEferT YR VI R 7
(a) et 3 I
(b) Wt 3f gféqor st

(c) Wt 3k &
(d) gféqor Tt 3 B
140. frefefa # & S-m ad gafa 7 2 7
(FReerdi = am) (S sirafms
2020 ¥ fafa
UgH)
(a) 9. &i. fayg - T EH
(b) ==/ gfan -  WdYH
(c) T =, - d9%H
(d) it =g - U 9gh

141. Hfifs smam g aad -1 ©@ A=ieh fen s m

& 3T=mid IW WeW & fHa fal #1 <@, 2021
e wihe R g ?

(a) 4
(c) 8

(b) 6
(d) 10

142, fr=fafed 4 @ form wmea g a2 wigam

f@ré, 2021 9 e @ 7
(a) SFRISa 1 e

(b) HIF T SHEGAT HrY

(c) forva ey gwaA

(d) TgFa T fawe wdwA

143. gt - 1! @&t - 11 & gafea i o giwat

% 2 fu MU e @ 5@t I w1 w5 i )
LGRS | - 11
(7=3) (afam)

A. T 1. Gy

B. T &I 2. JHeTHA

C. um faaiy 3. Yol fagea

D. 9q5vl W 4. ot g

b T4
A B C D

@ 3 4 1 2

b)) 4 2 1 3

© 2 3 4 1

d 1 2 3 4



SMRN-1 =2

&% i & gt & fa ng;%ﬁ a
144. With reference to the special address 144. PN 3 ﬂ#'m/a Fo T ‘
of the President of India, which of the & YR frafem &
following statements is /are correct ? 1. Tsgafd, il e ad ER BURRCER
1. The President addresses the joint qyara yud § 3 g7 Ere)
meeting of both houses of Parliament iy # 9% ¥ Al wel
at tl}e commencements of the first ' F@ R
scssion after each general election of I waid ; I IR
the house of the people and at the 0. Tegafd a7 FAfHATIOT ﬁmzh’f%
commencement of the first session ) foug & gfua @ 2 |
of each year. ¥ FT 5 i
2. The President in his address informs & IO F T fa fed ™ %2 Y HEw §
the Parliament of the causes of its ’
summons. hiford |
Select the correct answer using the codes C T
given below. '
Codes : (@)
(@) 1 only -~ (b) et 2
(b) 2 only '
(c) Both 1 and 2 LTS S
(d) Neither 1 nor 2 @M 172

145. Which of the following organization has | 145. = # @ forg @ed g wifaz -19 & uveER

launched ‘The Great Reset’ Initiatives for TR H Ay srderawen & IeuH 2q ‘¢ I G

the recovery of global economy during T Y YR FRar o7 7
the Post Covid — 19 phase ? '

(a) World Economic Forum (a) fom anfifss
(b) World Bank (b) forem <=
(c) OECD (c) 33,6t
(d) UNCTAD (d) IS (.. A u )
146. A clove represents to which of the | 146, wft frfifag § ¥ foraet fequ & -
following ? i '
. (a) AT weAt
(a) Terminal bud
(b) Accessory bud (b) FETHH et
(c) Flower bud (c) & et
(d) Vegetative bud (d) aeafey et
147. Headline inflation refers to the change | 147. s TR Al 3 : .
in value of all goods on the basket. On ofad ® wefify Eﬁl‘cﬁﬁ%m RS k i
which basis is the headline inflation ooy | ¥ ey @
measured ? SR o s 2 2
(a) Wholesale Price Index * (a) ¥ T e
(b) Consumer Price Index for Industrial (b) 3frenfirs siftrer _
Worker SR U o
(c) Combined Consumer Price Index ., (c) WMfE Iy U Yahig
(d) Urban Consumer Price Index (d) Tl I9¥a U Yot
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E&E SMRN-1 - 21

. are two statements one is
e R
a . .
Reason : : :
. The President of India ATYHUT (A) : B o F sy I e
Asserti?r?e;“t'he qualifications of the Qe it et s o el e |
dete_rman and Members of the FlnanCe R
Coairman HR (a;) : WY I weEl i fafR ame
ason (R) : Chairman and members are T |
g; e fted by the President of India A R me e f wermm @ v swm wm
Select the correct answer using the codes i |
gi\ren below. W H
Codes : () (A) 3R (R) 31 v § ol (R
(@) Both () 2 e of (A) - (s = PRI R
rrect explana od A
| Both (A) and (R) are true, but (R) is ©) (&) 3 (R) w8, g (R), (WA Y4
® not correct explanation of (A) RN S T e @ i
(c) () is true, but (R) is false (c) (A) W}, firg (R) Tera 2
() (A) is false, but (R) is true , (d) (&) T R, fg (R) e @
ist — I with List = II
149, Match Lt wer using the codes gves, | 149 TS 11 T - 113 gt i o gl
below the lists. & 2 Re R v I w v A )
List - I List - I -1 -
(Scheme) (Year of Launch) ‘(E‘Ih;m) ;:I;ﬂ;;) e
A. Aam Aadmi 1. 2021 R S - 3.)
Bima Yojna A. 3™ 1. 2021 v/
B. P.M. Aatmanirbhar 2. 2016 B. @ i wey 2.2016  \1V/,
Swasthya Bharat Yojna YR T
C E;a;ldhan gin;gna 3. 2007 C. WUHWAl 59 IR AT 3. 2007
D. Pradhan Mantri 4. 2018 s TR el
Suraksha Bima Yojna w2
Codes : A B C D
A B C D
I 2 3 4
@) 1 2 3 3 @)
b) 4 3 9 1 (b) 4 3 2 1
© 3 1 4 2. ) 3 1 4 2 J
42 4 1 3 @2 4 1 3 \
150. Who among th - ided | 150. Freferfiaa 1 @ fem o0 W s TR s\
mong the following never presided : : \
a Session of Indian Natignal Congress ? F ford) oft sty Y e v @ <6 ? |
(a) Lala Lajpat Rai (a) TR TR T3
(b) Bal Gangadhar Tilak (b) st T foer
(¢) Gopal Krishna Gokhale (c) TIaTet Fr T
d «
(d) Subhash Chandra Bose " (d) W H W
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